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Instructions : (1) Show necessary calculations as a part of your answer.

(2) Figures on the right hand side indicates the marks of the question.

1.  Pass necessary Journal Entries (narration is not required) in cost aceount books of a
Gopal Co. Ltd. for the following transactions. Company maintains cost accounts and

financial accounts independently : 13

(1)
(2)
(3)
(4)
(3)
(6)
(7)
(8)
(9)
(10)
(11)

(12)
(13)
(14)
(15)

(16)

AY-101

Materials returned to supplier from stores I 5,000.

Direct materials returned to stores from production < 3,000.

Stores issued for building construction < 2,00,000.

Stores issued for works maintenance < 2;000.

Stores of T 10,000 is lost due to fire 1n stores. 60% of the stores loss 1s insured.
Deficiencies of X 4,00071s found in stock taking.

Paid < 7,000 royalty on production.

Administration overheads allocated to sales department < 30,000
Administration overheads recovered < 32,000

Work in progress of < 8,000 is rejected (with no scrap value)

Production everheads of I 9,000 1s under absorbed due to defective planning to
production.

Production overheads on unfinished work 1s ¥ 10,000.
Recorded wages for unproductive time of direct workers, I 8,000.
Employer’s contribution to P.F. and E.S.I. 1s T 30,000.

Goods costing I 3,000 were sold to a customer for I 4,000. Now he returns these
goods.

Carriage inward on stores issued for production ¥ 5,000.

9 P.T.O.



(17) The opening balance of building under construction was < 8,00,000. This building

was completed during the current accounting period.

(18) Finished goods of X 15,00,000 sold on credit.
(19) Cash collection from debtors < 4,00,000.
(20) Finished goods sold at cost, I 2,00,000.

(21) Finished goods produced and transferred to warehouse I 10,00,000.
(22) Wages paid < 40,000. This includes < 5,000 paid to indirect workers.

(23) Indirect materials of ¥ 3,000 return to stores from production.
(24) Normal loss of indirect materials issued for repairs and maintenance < 4,000.
(25) Direct materials issued for production from stores < 12,000.

(26) Indirect materials 1ssued for production from stores < 6,000.

OR

Vrunda Co. Ltd. keeps books on integrated accounting system. The following is the
trial balance, appear 1n the books as on 1-4-2015 :

Particulars Debit Credit
< <

Stores Ledger Control A/c. 80,000

Work-in-progress Control A/c. 75,000

Finished Goods Control A/c. 50,000

Bank Alc. 45,000

Creditors Alc. 36,000

Fixed Assets Alc. 3,00,000

Debtors Alc. 60,000

Share Capital A/c. 4,00,000

Provision for Depréeciation A/c. 22,000

Provision for Doubtful Debts A/c. 4,000

Outstanding Factory Overheads A/c. 12,000

Prepaid Administration Overheads A/c. 15,000

Ineome Tax Provision Alc. 10,000

P &L Alc. 51,000
5,80,000 5,80,000

AY-101
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Transactions during the year ended on 31-3-16 are as under :

Total Wages paid (Direct I 4,00,000 & indirect I 25,000)
Purchase of materials on credit

Materials 1ssued to production

Materials issued for repairs & maintenance

Goods finished during the year at cost

Total sales (cash sales 1s 1/3" of credit sales)

Cost of goods sold

Production overheads absorbed

Production overheads paid during the year

Production overheads outstanding at the end of the year
Administration overheads paid during the year

Selling and distribution overheads paid during the year
Payment to creditors

Collection from debtors

Depreciation of machinery

Depreciation of office furniture

Administration overheads outstanding at the end of the year
Provision of doubtful debts at the end of the year

Income tax paid during the year

Provision of income-tax at the end of the year

<
4,25,000
4.,40,000
5.,00,000
9,000
9.70,000
15,00,000
10,00,000
1,880,000
1.10,000
15,000
50,000
60,000
4.60,000
11,00,000
20,000
5,000
3,000
7,000
8,000

15,000

All cash transactions are done through bank only. Prepare necessary accounts in the
mtegrated ledger of company and prepare trial balance at the end of the year.

AY-101 11
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2. (A) ACo. Ltd. follows EOQ policy for one of its components, the details of which are

(B)

AY-101

as under :
Purchase price per unit < 500
Cost of an order < 200

Annual carrying cost of one unit in inventory is 20% of its purchase price. Total
cost of inventory and ordering per annum is I 6,000.

The company has been offered a discount of 2% on the price of a component,
provided that lot size 1s 300 components at a time. You are required to :

(1) Compute EOQ
(11) Discount offer should be accepted or not ? Advise.

(1) Would your advise differ, if company is offered 10% diseount on a single
order of it requirement ?

OR

The cost of a unit is ¥ 50. Its annual demand is 600 units. Ordering cost is I 50
per order. Annual inventory carrying cost is < _6 per unit. The following discount
schedule is offered :

Order size — units Discount
0-99 0 %
100 — 199 5%
200 - 299 10 %
300 — — 15 %

You are required to find out optimal order quantity and its total cost.

A company 1s manufacturing a specialised machine. Direct labour require to make
the first.machine 18 3000 hours, learning curve is 80%. Direct labour cost is T 3

per hour. Direct materials required for a machine is < 8,000. Fixed overheads are
of X 50,000.

You are required to calculate :

(1) Average cost of 4 and 8 machines.

(1) _After manufacturing 8 machines, if the repeat order of another 6 machines
1s received, what price should be fixed per machine, so as to receive 40%
profit on selling price ?

OR

Explain and distinguish ‘cost control” and ‘cost reduction’.
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3. Tulsi Company Ltd. produces and sells three products viz. A, B and C. Production is
done batchwise, each of 10 units and is sold in a packet of 5 units. The details of these

products are as under :

Particulars A B C

Production units 200 300 400

Cost of direct raw materials per unit, 40 50 60

Direct Labour Cost per unit X 20 20 30

Machine hours required per unit 5 - 2

Other details of production overheads are as under :
Overheads Cost drivers <

Factory works expenses Machine hours 34,000

Stores receiving cost Requisitions raised 110

Machine set-up cost Number of 9,000
production batches

Cost relating to quality control Number of 4,500
production batches

Cost relating to material handling | Numbersof sales 9,250

& dispatch orders executed

Total 68,000

Number of requisitions raised on stores was 25 for each product.

Total number of sales orders executed was 180, each was in a batch of 5 units.

You are required to.calculate :

(1) Total cost of each product assuming the absorption of overheads on machine hour

basis.

(i) Tetal cost of each product assuming the absorption of overheads by using

Activity Base Costing.

(A). Distinguish between ‘Conventional Costing” method and ‘Activity Based

Costing’ method.

(B) Explain the concept of cost drivers with illustrations

AY-101
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A company has received an order for supply of 5,000 units of a product. For this order
a fixed investments of ¥ 50 lakhs and working capital equal to 25% of sale value will
be required.

Each unit will require 10 kg. of raw materials and 10 labour hours. Price of raw
materials 1s ¥ 20 per kg and labour rate 1s T 10 per hour. The details of overheads are as
under :

Fixed overheads :

Production overheads T 4,00,000 and Selling & Distribution overheads < 2,50,000.

Variable Overheads :

Production overheads @ I 15 per labour hour and selling and distribution
overhead < 40 per unit.

You are required to calculate the price of a product under each of the following
situations :

(1)  When profit 1s 25% on selling price.
(11) An expected return is of 15% on total capital employed.

(m) To earn profit at 15% on original sale price, when discount i1s 20% on selling
price.

(iv) To sale at 30% profit on value added amount.
(v)  When profit volume ratio is 50%.
(vi) When profit is 100% of conversion cost.

(vil) To earn profit of I 40 per unit.

OR

(A) The following information is available of a product :
Diréct materials 50% of total cost
Direct labour 20% of total cost
Overheads 30% of total cost
Sale price 3 3.00,000

It 1s_estimated that, in the next following year, rate of raw materials and labour
will increase by 20% and 15% respectively and therefore present profit will
decrease by 10%, if the selling price remains unchanged.

What should be the selling price for the next year, if percentage of profit on cost
at present 1s to be maintained ?

AY-101 14
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(B) Following cost data of a product is available from the books of a company : 7

Direct material, Direct wages and variable overhead per unit are respectively
X 20, ¥ 10 and T 5. Fixed overheads are I 3.,60,000. Annual sales 1s of 24,000
units. Capital employed in fixed assets 1s I 8,00,000. Capital employed in current
asset 1s 60% of sales price. In order to earn 20% return on capital employed, what

should be the selling price per unit ?

5.  Select correct answer and show necessary calculations : 15
(1) Particulars Books of Financial Books of Cost
Accounts Accounts
L4 L4
Opening stock 40,000 47,000
Closing stock 45,000 50,000
Net Profit 2.00,000 ?

Profit as per cost accounts 1s
(a) < 1,98,000 (c) 242,000
(b) <2,02,000 (d) X 1,88,000

(1) In a company, consuniption of raw material is 4500 units per month. Ordering

cost 1s ¥ 9000 per order. Carrying cost per unit per annum is < 300. Company

follows EOQ pelicy. Total ordering cost of a company, per annum is
(a) < L08,000 (c) 2,70,000
(b) 9,000 (d) None of the above

(11)« Labour turnover as per Replacement Method and as per separation method 1s 10%
and 5% respectively. Number of workers replaced during that period i1s 30.
Number of workers left during that period 1s

(a) 3 (¢c) 15

(b) 30 (d) None of the above

AY-101 15 P.T.O.



(iv) For the production of 1000 units, available cost data is as under :
Per unit raw materials required is 10 kg @ X 20 per kg.
Per unit labour hours required is 20 hours @ < 10 per hour.
Per unit machine hours required is 15 hours @ X 5 per hour.

Total fix factory overheads, administration overheads and selling distribution

overheads respectively are I 75,000, X 30,000 and X 20,000. Total conversion.cost
1S

(a) < 6,00,000 (¢) <5,50,000
(b) < 4.,75,000 (d) < 3,50,000

(v) Following data is available from the books of a company :

Product | Units of production | Total number of
purchase order

X 5000 100

Y 15000 200

Volume related activity cost is T 80,000 and purchase related cost 1s I 90,000.
Cost per unit of both products as per ABC method is

(a) XR8&YXIO (CYX B & Y'< 8.5

(b) XRX10&YRR (d). None of the above

AY-101 16
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(3) 12,000 %R sALSl ASIEAL Sdl dM-d sa15els T 18 dvl vy Ysals . '

@) alad R wal 40,000 AsAdL Sdl. \
(5) Rz [Riul vl T 36,000 Y5l &dl.
(6) <Ll Bud (B.aels 790 edl

24ql

2511 wAlL Yol i 2AiS wAL Yol [QAd-AIHL AS Ay 5 IEEICH I

Geleell A Glseiyds axendl.

%!

2. s Su-dld altls el 50,000 2isul 9. ug o ¢9 : 14

U3d sa alls d Wil %

HLA-ALHLA 0 100%
cLell 70%
sl [R1uR] wal ,50,000 60%
agladl RRIvl v 1,00,000 40%

AU d Ul 0% s dal S5581R ¢9.

411 ¢9 -
BUR 20% <SL HAddl &1, dl 2sHEls duel FHd.

A 2sHels dARL (B4 T 40 8, dl A [Big sl 24 3l 9 el ?

2Yql
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25 Su-ll Gawted Aa3d 4.00.000 2isHil ©9 244 d A Id 80% B>l 51 53

€9, s uas 1A Yo 9

[ad1q 4 4
Geulerl il <AL 3,20,000 »isHl, <8l 19,20,000
[5Hd 21542l @ T 60
olle :  Aldd vl
HlE-ALHLA 3,60,000
HyRl 3,60,000
sI2viAL [RIv] wal 3,20,000
Aeladl RRuz] vl 80,000
Al [Qdzel BRI wal 1,60,000 12,80,000
5101 6,40,000
slle . Ruz wal:
s12viAL BRiv] val 80,000
agladl Riziuzl wal 40,000
dlel-EaRe BRI vl 40,000 1.60,000
Alvuyl A5l 4,80,000

WL ARY LRI VRUR Gculerd 3,00,000 s &d. vIUR wisuels duwel Bud

350 &l UBAldrl 2 9ae-l 2215 454 20,000 2UsHL 241 40,000 2A5HL &ll.

AMiAd widz wgld 24 qMdell widz wgld wsiel usts ei-udld st aeal s
oi 51l Haagll saulad uas darR s
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3. (A) s 5udl vis [Qare usiRL Aot Geuwledd 52 9. UUM Al Geuled 2 3000
oz sAlsiHl %32 69, AMUA A5 80% 9. SAISELS s UYL €2 T 3 4.

4ALLS T 8,000 UE HIA-ALMLA A9 Ra [BRiu] vl T 50.000 9. 7
dAHIR ARl sl ¢
(i) AR i 28 Al A3 YidR

(i) 28 4ol Geuwtert sdl wedl, ol aRiAL 6 Aol sirlladl Hiedl 18R 3l

dl. dael BHd GUR 40% sl Haadl H2 d2Els dael BHda sedl 21mvdl

(B) “U3dR 25U” U “UddR Y1317 AHAMAL Vel dASldd UBhal. 7

24ql

(A) A a5 vied 9 ? YA s gHLr s Sl d 55l sl 24

¢9 2 Gelgel Al AHMNAl. vi

(B) A4y A+l Anas51d [Baiell ugle w11 q01ddL axenal. 7

4. us Su-ld 5000 BAsHL YR w3l U8R Houl 9. 2L 2R Hle T 50 dvi RaR

431 RAsEL 2 el [Bud-l 25% sedl sidala 34l ¥33aid el 14

e85 2isHels 10 (3.l WA 24 10 1R sdlsi-l ¥33a1d 8. Hd-0HAAL HId

[Balels T 202 1Rl e2 5a15els 3109, RN vl [@atdl 1=l e ¢

R BRiuI) vl :

Geuled WAL T 4,00.000 21 d=ael [[dae vl T 2.50.000.
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Ald BRI vl -
Geuler VAl HYR 5a15Els T 15 vt duel [Adel vl 2isugls T 40 .

AL £35 AMOUHL dHIR 2isHEle dABEHAH] ae1d] s €9 -

(i) ol sl dael Fud-l 25% ¢l '

i) 2sE]l 54 Y3l GUR andl v1ulEd e 15% slA.

(iii) dARL BUdrl 20% %2dl dald UMl 2d AR, Yo duel Budsl 15

A5l Hoddl.
(iv) Hedlgl 254 GUR 30% 151 Aeldl+ AUl 52l
(v) I3 A5l ARIdR 50% eld.

(vi) Sl PR 3UdR Wid2-l 100% s,

(vi) U3 2sHELE AsL T 40 S

4

(A) 215 Ul a1 Al N : 7
5@ U3dR+l 50%

Hcdd Hld-AlH
§4 WdR-l 20%

“Yql

Hedd o

BRIy 5@ Y3dz-l 30%

.00,000

QML wid 9 5 RuHl Ml HE-AHIA v 1AL B v5H
5% AaIRL 29l e ddl % dAwL BHAHL 515 F51R A sAML 2ud
4 5l 10% 2l @29l

dl,

Y3dr BHd GUR &ld-l AstHl €2 nndl uvial e Alddl 9 dael [FHa sedl
v A ?
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(B) 25 Syl Alusmidl, 215 delsl 00 wsddl ARl wlsdl uol oo

SHELS UAE HIA-AMHLA, YA HYR v Aldd BRI vl 21454 7 20,2 10
24 T 5 9. Rz R vl  3,60,000 9. Alls duel 24,000 »isuid 9. R
Fasdini Astddl 34l 2 8,00,000 9. ALy, Masdini AsEL Yl dael Bl

60% 9. A5l HSl UR 20% ANdR-L £ HOQdl HI2, sHels duwl BHd
sedl gldl o ?

5. AR [aseaudl waiedll 521 ¢4 w37 2wl eulal

(1) o auauou-l [@atdl 1A yae o9

AHY Q181 451
3 L4
I 5,00,000 ~20,000
11 8,00,000 40,000
32 v glal N,

(a) < 4.,80,000
(b) < 1,20,000
(¢c) < 7,60,000
(d) 80,000

2) 25 Su-dlapriusdl Al [@ordl v 9
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Alda. WAlR 2,00,000 3,50,000

Ruz walz 1,00,000 2,50,000
40% 89l Awdl »idl, dsiad U3dR :

(a) < 3,00,000
(b) < 1,00,000
(c) <6,00,000
(d) <9,00,000
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(3) UM ¥SH dUR SAML 200 5ALS AHUAL Gualdl 24l i ofly 2sH dUR
5L 120 SALS AHA-L GUAURL 2YL A4YA A5 UHILRL (25197)) ;

(a) 60 %
(b) 80 %
) 70%

(d) Gua~umidl sisuel e
(4) 1000 »15Hi-l Geuled 412 YR vl Hiledl = Haol ¢ -
25HELS SR Ha-l a33lad 10 B, @ T 20 B.au. €ls
ws1els YR sALsi-l ¥37141d 20 saisl. @ T 10 sALsels
25HELS UBLS sasiHl ¥330Ud 15 sasl, @ T 5 sdlsels

sa RUR sRvi BRI wal, adladl vl
% 75,000, T 30,000 i T 20,000 9. $4 3uid[

(a) 3 6,00,000
(b) 4,75,000
(c) 35,50,000
(d) 3,50,000

(5) 54 HA-A01HA v EI €9, M-I aupAL [[aad T 40 uld. "‘,

HIA-AHLAAL U ,u €9 il HIA-AHLIAAL WY %2l 30 [3.21L

VIV HIA-A AP

Al syl e
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Seat No. :

AY-101

May-2016
M.Com., Sem.-I1

411-EA : Cost Accounting
(Old Course)

Time : 3 Hours] [Max. Marks : 70

Instructions : (1) Show necessary calculations as a part of your answer.

(2) Figures on the right hand side indicates the marks of the question.

1. A company manufactures a product in batches, each of 1000 kg. During the year details
of standards are as under : 13

(1) Standard production is of 8 batches with no processing loss.
(2) Standard input of direct materials per batch :
Material A 60% of input @ X 20 per kg.
Material B 20% of input @ X 25 per kg.
Materiald C 20% of input @ X 10 per kg.
(3) Labour hours required, 1000 hours per batch @ X 20 per hour.
(4) Vanable overheads < 3 per hour.
(5) Fixed overheads < 32,000.
(6) . Selling price X 100 per kg.
Actnal data for that period 1s as under :

(1) Actual production and sales is of 10 batches, each of 1000 kg.
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(2) Materials used :

Material A 7000 kg. of X 1,75,000
Material B 1000 kg. of X 30,000
Material C 2000 kg. of ¥ 12,000

(3) Labour engaged for 12,000 hours and wages paid were I 18 per hour.

(4) Variable overheads paid < 40,000.

(5) Fixed overheads paid ¥ 36,000.

(6) Selling price X 90 per kg.

OR

How the variances will be recorded in the books under Single Plan Method and Partial
Plan Method ? Explain in detail with illustrations.

2. Annual sales of a company is 50,000 units. Cost details are as under :
Cost Total Annual Cost | % of Variable Cost
L4
Material 2.85,000 100%
Labour 2.00.000 70%
Factory overheads 1.50.000 60%
Administration overheads 1,00,000 40%

Salesman 1s entitle to receive 10% commission on sale price.

You are required to :

(1)  Compute the sale price per unit, so as to realise 20% profit on selling price.

(11) Calculate B.E.P. in terms of rupees and units, if sale price 1s < 40 per unit.

AY-101
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Production capacity of a company is of 4,00,000 units and normally it works at 80%
capacity. Income statement 1s as under :

Particulars 4 4

Production and sales of 3.20,000 units 19,20,000

selling price @ X 60 per unit

Less : Variable costs :

Raw materials 3,60.000

Labour 3,60.000

Factory overheads 3,20,000

Administration overheads 80,000

Selling & Distribution overheads 1,60,000 12.80,000
Contribution 6.,40.000

Less: Fixed Costs :

Factory costs 80,000

Administration overheads 40,000

Selling & Distribution overheads 40,000 1,60,000
Net Profit 4,80,000

During this period, actual production was of 3,00,000 units. Actual selling price was
<50 per unit. Opening and closing stock was respectively of 20,000 units and 40,000

units.

You are required to prepare statements under marginal cost and absorption cost method

and determine the profit. Show the reconciliation statement of both the profits.
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3.  (A) A company is manufacturing a specialised machine. Direct labour require to make
first machine is 3000 hours, learning curve is 80%, Direct labour cost 1s I 3 per

hour. Direct materials required for a machine is ¥ 8,000. Fixed overheads are of

< 50,000. 7

You are required to calculate :

(1)  Average cost of 4 machines and 8 machines.

(1) After manufacturing 8 machines if the repeat order of another 6 machines 1s
received, what price should be fixed per machine, so“as to receive 40%

profit on selling price.

(B) Explain and distinguish “Cost Control” and “Cost Reduction™. 7

OR

(A) What 1s learning curve ? How learning curve ratio will be determined ? Explain

with 1llustration. 7

(B) Explain relevance of learning curve in Management Accounting System. 7y

4. A company has received an order for supply of 5000 units of a product. For this order a
fixed anvestments of T 50 lakhs and working capital equal to 25% of sale value will be

required. 14

Each unit will require 10 kg of raw materials and 10 labour hours. Price of raw
materials 1s ¥ 20 per kg and labour rate is ¥ 10 per hour. The details of overheads are as

under
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Fixed overheads :
Production overheads ¥ 4,00,000 and selling and distribution overheads ¥ 2,50,000.
Variable overheads :

Production overheads < 15 per labour hour and selling and distribution nvﬂrhead‘

< 40 per unit. '

You are required to calculate the price of a product under each of the follo

situations :
(1)  When profit is 25% on selling price.
(1) An expected return is of 15% on total capital employed.

(11) To earn profit at 15% on original sale price, when 20% on selling

price.

(iv) To sale at 30% profit on value added :

(v)  When profit volume ratio is 50
(vi) When profit is 10{]‘%' n :

(vit) To earn profit of

ru

rmation 18 available of a product : 7

50% of total cost

20% of total cost
Overheads 30% of total cost
Sale price < 3,00,000
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(B)
the selling price per unit ?
5.  Select correct answer and show necessary calculations :
(1) The details of the two periods are as under :

AY-101

It is estimated that, in the next following year, rate of raw materials and labour

will increase by 20% and 15% respectively and therefore, present profit will

decrease by 10%, if selling price remains unchanged.

What should be the selling price for the next year, if percentage of profit on cost

at present 1s to be maintained ?

Following cost data of a product 1s available from the books of a company. Direct

materials, Direct wages and Variable overhead per unit are respectively T 20, < 10

and ¥ 5. Fixed overheads are T 3,60,000. Annual sales is of 24000 units. Capital

employed in fixed assets 1s < 8,00,000. Capital employed in current asset is60%

of sales price. In order to earn 20% return on capital employed, what should be

Period Sales Profit
(4 [ 4

I 5,00,000 —20.000

I1 8.00.000 4(0.000
Fixed cost should have been :
(a) .4,80,000
(b) < 1,20,000
(c) < 7,60,000
(d) 80,000

29

15

P.T.O.



(2) The following is the data available from the books of a company :

Activity level 50% 90%
Variable costs ¥ 2.00,000 3,50,000
Fixed costs ¥ 1,00,000 2.50,000

The differential cost for 40% capacity is
(a) < 3,00,000
(b) < 1,00,000
(c) <6,00,000
(d) <9,00,000

(3) In order to prepare the first unit, time taken i1s 200 hours and to prepare second

unit, time taken is 120 hours. Learning curve rate 18

(a) 60%
(b) 80%
(c) 70%

(d) None of the above
(4) For the production of 1000 units, avatlable cost data is as under :
Per unit raw materials required is 10 kg @ X 20 per kg
Per unit labout hours required is 20 hours @ X 10 per hour
Per unit-machine hours required is 15 hours @ ¥ 5 per hour
Total fixed factory overheads, administration overheads and selling distribution
overheads respectively are I 75,000, X 30,000 and X 20,000. Total conversion cost
18
(a) _<6.00,000
(b) < 4,75,000
(c) T5,50,000
(d) < 3,50,000
AY-101 30



(5) Total material cost variance is I 10 A, Material quantity variance is I 40 A,
standard quantity of material is 20 kg and actual quantity of material 1s 30 kg. The
price of actual material per kg is

(a) T3

CIRE
4

)

(c) 10

(d) None of the above

&
\
P
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